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(1) —KEF-HFAl=E (BT %)
= i A& fHIERTDEE| HIERE &t i
— fi& = £t| 48,134,768 73,208| 48,207,976 0.15
e Al = £t 30,244,281 0| 30,244,281 0.00
R & ERKY A< & 17,109,971 0| 17,109,971|  0.00
it R K % A &= & 10371894 0| 10,371,894|  0.00
BHEHREEERSNSE| 1767330 0| 1,767,330  0.00
EEERPFKEEFIRE 836,666 0 836,666  0.00
ITHREEESEXSIRE 158,420 0 158,420/  0.00
a &t 78,379,049 73,208| 78,452,257  0.09
(2) KESZERE (B FH. %)
X % fHIERTDRE| #HIERE &t B 3
RO# B - A 4,128,198 0| 4128198/ 0.00
&% M X W 3,518,822 0| 3518822 0.0
E X B I A 320,705 0 320,705/  0.00
E X M X H 1,858,973 0| 1858973 0.00
(3) FTKREHEERF (B FH. %)
X % fHIERTDEE| HIERE &t HaE R
oo #® M 4 A 3,676,089 0| 3,676,089 0.00
v & M X H 3,706,882 0| 3,706,882 0.00
E A WM X A 1,961,419 0| 1,961,419  0.00
E X B X H 2,830,373 0| 2830373 0.00




	（率あり）会計別

